( BRACHYD BEIF GBIV @D IHD Rk
FUJTSH(LP6U LDTHIT600T H6V6VIE I560)60015 6D
L Sabaragamuwa Provincial Department of Education )
([ oas Bm sBmuas 2017 07 g )
@yewiLmb " Heuewewill ufieng 2017 SJw 07
S Mid Term Test 2017 Grade 07 )
([ o&ma o1 g8 h
&6wBLD } I Srewi(h OIS UWITeVLD
_ Mathematics Two Hour )
I - e
o u&@» 81CEEO ® 880 esvwsi.
50 :
(01) &30 »ozss. 4X5+2
(02) 3g 750mg 88 Sa® O3 O3,
ficall:

(03) g® mosdm. (-12) + (+5)

(04) son 93 O3 Ged (Sed» enies DYnw »H® WS,

(05) 8c O 8x8:3 88800 Bcw 51250ml mxlg @8. 88y 10 B3 S8 Y esenss
8e3 8. OeBed 8Y Sc 8890 eenwsim.

(06) goc 2.5cm § DS S@rencs DS,




-2

(07) ca® 0008 ect GO DB, 2 1
4

(08) 8 110 ®ies 00 & OB ¢SO,

(09) som c90c 0088 g3 vea Busty.

D
D)

(10) O »ed qte o&m UG ¢[] BED 4E 30290 ¢ @GS,

1 ] 2
3O 2~ 6
Mot arantine 11,
MAAISL G AN FAER R s
(11) 83 =3 oOs3H™.
1. 90 emdencs 90°0 O&» @®.
2. 562050 emiesws 180° © O&» @d.
(12) 8 g8 esafernmienged 8o 98 vec 0053 e¢pencss 0. 88 dbndcs eenwsim.
] C N
4cm

(13) 28880 p ¢=35® ¢ X 09 Y §0o® HDIRLNBES EOINDOBI.

; 1

X

! 1l

& S
€ >

(14) 8 18 011 gBs3 453 0@ a1 23 emic Busim.
2424, 5318, 6128, 3719




-3-
(15) 88> Oxdes WIBDeRSI OIS 0E bR emics Busim.

VA

(16) g mosts.  1)0.7x3
2)2.4+2

(17) €» 13m 23cm =5 O »OFwzS ©@1 A 03290 2057 C1ed. 9235 WIEE® o et nsis.

[ AAPN 3 1l

[CL L1IN

(18) =wm cow g8 a@{éucuo

A p—

B ) C I D

19* Bl dgme Bt 17 250ml 9®reics 80or @O, OS] g 52 g0oq B O Ieves
800 0 B8 Boc OR=3 ¢:$OBI™.

(20) 500 emdesed goc & Bozlm.

A

C




-4 -
II - @200es

& 050 P& BE€nc Bosto. [Wathematics.lk

0@ A= {1:5 103 @0 OO €309 }

() A8 gdsd eswc Hows ne B8e®s REH™e Buzlm. (c. 02)

(i) A npeos 003 615 8B 530SI, (c. 02)
(iii) P =£ D ® § O v» HOmed gndt z:gczscs}

P="0, 8 @}@@m B8 . e¥y swesIm. (c. 02)

(b) (1) 48 02100 OO 3:BOC &K eces Busim. (. 03)

(i) 18, 20 3022100 200 ELIE P€HITDICEH EE3BBI. (c. 03)

(02) () o> dxed Bedms? HyodsIH.

&g v Se® 0o
3
1 T
1
7

(c. 02)
(i) B WIvw emdch Buzsim. % , % (c. 02)
(iii) Oz OB, | % + 2% (c. 02)
(iv) &g Do, 4 % - 2% (c. 03)

(V) »8c o® Hoees 80 1% km exied 988 ¢6 O» 8% km deecs? ©®=3 6 »>®0Ed

€® 9. 9Ced BOes »aded 8O emsd®en (oS53 880 qiie? (c. 03)

03) (a) (i) own »ost». kg g (c. 02)
15 850
+ 3 780

(i) gowcen 80 escwor 05053 8g » PYOIwEBSS gues exnw® eces 40mg » 20
OB OGO O3 »e Y . 0O »e WD WAB YN EIOE?
(c. 03)

(b) () 6m 30cm »7 Sm 60cm =5 o 208 WAE 213 v eO®E €00 etf 51eBe®s3
630 A8 520 mom 8. 95 wEE® o esssis. (. 03)




h [Qathematics.lk
(i) cwed ¢Hedm eces g g8 58

e108ccs 8 4iG8®0 2m =¥ 2o &as3

o0 gdas 8 D®IE 6Oe8. 82 grred 4
DRG0 O® D5lesicd ey (B3OS, (c. 04)
=+ = 40cm
#
(04) (@) () x=3,y=4803x+5y-48 goc eesssis. (c. 03)

(i) gC eoliom 8c x ¢ e¢d® colfinm 8 y ¢ 9. g1oCG @08 35 ¥ 0¢h® eod
43 8c € o300 1D Gee @800 H8s ymiamns e0INDH®SI. (c. 03)

b) () 2y-7=9 o8 00wz 08x3 8es® eom 88 9. Besg®d gee Bedmz? godsim.

E 2 |: 2y-17
y ITTITTYTY y sssssssssegl y

N . 2
Q . (c. 04)
(i) crved DHT S ecend AS @1 @O, x O DS LRI, (c. 02)
LT [ |
(05) (a) (i) 64, v¢x 4 § cbad godYenss Busis. (c. 02)
(i) x=2w0y=3, 50 3x’y g0 etcsim. (c. 04)
(b) (i) o s>,
A B
3.12x 10 0.0312
0.312+10 3120
31.2x 100 31.2 (c. 03)
(i) oo ¢Pedm ¢@d, wo eces Busim.
0.50
0.75
0.125

(- 03)




-6-
(06) (a) >o» ¢Sed» Ay gy WIBDexsS e ¢18 1, 2 yd»OcED 88nd svwsis.

AT

d [ f
(i) cSoc 2y gy 215 »® »osi». (c. 02)
(i) 83 3y gg 33 »® B, (c. 03)
(iii) s Semies 02 dbewxd gwu Semier ¢8 »HO® woxsis. (c. 03)
j\ k
(b) () gos 3cm S O DS Bew®uwn Bog? (c. 02)
(i) S¥®ac Tem = O Oadmwses g8x3m. (c. 02)

(07) (1) SmEo ®4m oec dYEOCEH 88D B DHHHOWO &1 588w 8 OO OPTEIS

38 DO S o eesnsiH. (c. 05)
(i) 8o, vee, co 88002 1m, 20cm, 50cm ¢ces § IeBwd ¢Bx B ¢8O &S 8890
@e30053. (c. 03)

(iii) @dc 1 % I 518 30 eSSt 200ml =3 § Bgor Bwes 868w wiSe? (c. 04




62d» M6 sHmsns - 2017

88nor s8/6
DFIDGE
07 - @O
I - @008
g 8&a0 ca s
Go2DS
4x5+2 @
01
onf2+2- | &
02) | 3750mg 02
©03) | 7 02
04) | gwomders 00| e @
s0dmemienss @000 ] ee— @
................. @
05
(05) | s21 i(ff)ml ................ &
(06) . _2__2_ 0
©07) | 2.25 02
(08) | @es 3 8 20 02
i Lilathematics.1k
B
D 02
|1 2 _2 i
2 6
A @) | @
@mesd | ©)
(12) -8 | ©
8x4=32 | - @
(13) | P=2x+2y 02
4 | 2424 | ©)
6128 i
(15) | AB
w PQ 7 (2




ae | @22 | — 0
G)t2-1 | __ -
a7 im4lem | ee— __@
a8 | aApc | — D
Aaco 0
a9 | er2som | — @
20) | 8ok | —— ©)
11 - ez00es
gei= 8829 cRE
oS
oy | @0A=23s ©)
(i) A = @ ............ ©
(iii) z2pe»™ GOe® O® 40wdw 640 | e 0)
o980 7B
®) () 2x2x2x2x3 |/ 1€,
@iwo | 10)
N7
(o= @
. [Mathemgtics.lk
2— | — @
W -~ | ©
i) 3 % """"""""" @
9 17 _ 36-17 19 3
s T S
(V) 1 % + 8 %
3,25 _ 9450 (59 o5 | T ®
2 3 6 6 6
©03) | @ @) 19%g 630g | ©)
i) 8000 =200 | —— -®
40
)G 6 30 = 1190 =2m38m
5 60 5 | -®@
11 90




(i) @2 =40x 5 =200cm

2m =200cm | @
gred IR ms @d.
04) | (a) () 3x3+5x4-4
9+20-4 =25 —®
(i) 3x +4y —0
®) () (x2| ,|-7| ,|16|,(8 | | = @
(i) 4x =20
£ S5¢ —@
ol & 0 |— ©)
(i) 3x2x2x3x3=108 | e ©)
[lathemgdtics.lk
®»o 1, 3 1
2 4 8 ®
(i) BO108 BEQcOCO 1 A8 e (3)
©) | @ (@ b,d,e,f ®@2m®28 | — ©)
@) d,e,f e (3)
(iii) eagfem3&oz
O e2038529 B,
8® o8
(b) (i) 6cm — ©)
(1) BO1c€ g s @
0D [ G 2¢4+5) =18m | ®
18+ 4 = 4.5cm
(i) 100x20 x 50 = 100000cm’= 100/ 0
100
(1i1) 1500 =17 R Q@

200






